Monthly Means: BCI, Panama
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Diurnal Means: BCI, Panama
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Diurnal Means: BCI, Panama
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Annual Means: BCI, Panama
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Annual Means: BCI, Panama

HR C STOMATA
26000 A
0.14 A
25000 A
0.12 A1
24000 A
0.10 A 2
N 23000 A
£
i =
0.08 £ 22000 - o
=] _',f’
A Y i
0.06 A 21000 A N J/
\ /
\\ //
0.04 - 20000 A AN ;7
\N |7
\z
T T T T 19000 - T T T T
TLAI FATES ROOTUPTAKE_SI
3.90 + —— test —_—t
es 500 est
-== base -== base
3.85 A
480 A
3.80 A
460 A
3.75 1 <
g
3.70 - S 4401
4
3.65 - 420 A
7 ~~~~~
3.60 400 - /,/\\ //
] s N //
3.55 380 - ad S
1999 2000 2001 2002 2003 2004 1999 2000 2001 2002 2003 2004
Year Year



